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ECONOMICS

(Macro Economics–II)

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1

and 2 are compulsory. Attempt remaining three

questions selecting one question each from any

of the three units out of the four units. All

questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1 vkSj

2 vfuok;Z gSA nh xbZ pkj bdkb;ksa esa ls fdUgha rhu

bdkb;ksa ls ,d&,d iz'u pqurs gq, 'ks"k rhu iz'u

dhft,A lHkh iz'uksa ds vad leku gSaA

Compulsory Question

1. In an economy generally people keep money for

transactions precautions and for investing in bonds

and securities :

Based on this Information, answer the following

questions :

(i) Which theory is explained in the above study ?

Who propounded it ? Define it.

(ii) Tell the different motives of demand for money.
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(iii) How is equilibrium rate of interest determined ?

(iv) Write the four drawbacks of this theory. 16

fdlh vFkZO;oLFkk esa yksx lkekUr;k ysu&nsu lko/kuh rFkk
ckW.Ml ,oa izfrHkwfr;ksa esa fuos'k djus ds fy, eqnzk j[krs
gSaA bl lwpuk ds vk/kj ij fuEufyf[kr iz'uksa ds mÙkj
nhft, %

(i) mijksDr vè;;u esa fdl fl¼kUr dk o.kZu fd;k x;k
gS\ bldk izfriknu fdlus fd;k Fkk\ ifjHkkf"kr
dhft,A

(ii) eqnzk dh ekax ds fofHkUu mís'; crkb,A

(iii) C;kt dh larqyu nj dSls fu/kZfjr gksrh gS\

(iv) bl fl¼kUr dh pkj dfe;k¡ fyf[k,A

2. Choose the correct alternative : 5

mfpr fodYi pqfu, %

(i) Velocity of money refers to :

(a) the speed at which money circulates

(b) the no. of times a unit of money changes

hand

(c) the no. of times money supply changes

(d) None of these.

eqnzk dh pyu xfr ls vfHkizk; gS%

(a) og xfr ftl ij eqnzk dk izpyu gksrk gS

(b) eqnzk dh ,d bdkbZ ftruh ckj gkFk cnyrh gS
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(c) ftruh ckj eqnzk dh iw£r cnyrh gS

(d) buesa ls dksbZ ughaA

(ii) Gross interest includes

(a) reward for risk

(b) reward for management

(c) reward for inconvenience

(d) All of these.

ldy C;kt esa 'kkfey gksrk gS

(a) tksf[ke dk iqjLdkj

(b) izcU/u dk iqjLdkj

(c) vlqfo/kvksa ds fy, iqjLdkj

(d) mijksDr lHkhA

(iii) Volume of Credit creation depends on the size of

(a) bank rate

(b) credit multiplier

(c) money multiplier

(d) None of these.

lk[k fuekZ.k dh ek=kk fuHkZj djrh gS

(a) cSad nj ds vkdkj ij

(b) lk[k xq.kd ds vkdkj ij

(c) eqnzk xq.kd ds vkdkj ij

(d) buesa ls dksbZ ughaA
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(iv) Trade cycles are related to

(a) income

(b) employment

(c) prices

(d) All of these.

O;kikj pØ lacaf/r gSa

(a) vk; ls

(b) jkstxkj ls

(c) dherksa ls

(d) mijksDr lHkh lsA

(v) If value of multiplier is 3 then MPC is

(a)
2

3
(b)

1

3

(c)
3

2
(d) 3.

;fn xq.kd dk eku 3 gS rks MPC gS

(a)
2

3
(b)

1

3

(c)
3

2
(d) 3.



Match the following with their correct answer : 5

1. Classical Economists (a) demand side factor of

inflation

2. Fisher equation (b) related to revenue and

expanditure of the

government

3. Increase in Public (c) A function of rate of

expenditure interest

4. Fiscal policy (d) Money just a medium

of exchange

5. Speculative demand (e) PT = MV + M1V1

for money

fuEufyf[kr dk muds lgh mÙkj ls feyku dhft, %

1. ijEijkoknh vFkZ'kkL=kh (a) eqnzk LiQhfr dk ekax

i{k dkjd

2. fiQ'kj dk lehdj.k (b) ljdkj ds vk; rFkk O;;

ls lacaf/r

3. lkoZtfud O;; (c) C;kt dh nj dk ,d
esa o`f¼ iQyu

4. jktdks"kh; uhfr (d) eqnzk dsoy fofue; dk

,d ekè;e

5. lV~Vk mís'; ds fy, (e) PT = MV + M1V1

eqnzk dh ekax
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Answer the following questions : 6

(a) Define the Fiat money.

(b) What is Inflationary Gap ?

(c) What are the various phases of Trade cycle ?

fuEufyf[kr iz'uksa ds mÙkj nhft, %

(a) izkfn"V eqnzk dks ifjHkkf"kr dhft,A

(b) LiQhfrd vUrjky D;k gS\

(c) O;kikj pØ dh fofHkUu voLFkk,¡ D;k gSa\

UNIT–I  (bdkbZ–I)

3. Define the Multiplier. Discuss its Forward and

Reverse operations. What are the leakages of

Multiplier ? 16

xq.kd dks ifjHkkf"kr dhft,A blds vuqdwy ,oa izfrdwy dk;ks±

dk o.kZu dhft,A xq.kd ds fNnz dkSu&dkSu ls gSa\

4. Discuss the concept of Accelerator. What is the difference

between Accelerator and Multiplier ?  16

Rojd dh /kj.kk dh O;k[;k dhft,A Rojd vkSj xq.kd eas

D;k vUrj gS\
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UNIT–II  (bdkbZ–II)

5. What do you mean by Money ? What are its functions ?

Discuss the importance of Money in a developing

Economy. 16

eqnzk ls vki D;k le>rs gSa\ blds D;k dk;Z gSa\ ,d
fodkl'khy fefJr vFkZO;oLFkk esa eqnzk ds egRo dk o.kZu
dhft,A

6. “Interest is reward for parting with liquidity” critically

examine the statement. 16

^^C;kt rjyrk dks R;kxus dk iqjLdkj gS** bl dFku dh
vkykspukRed leh{kk dhft,A

UNIT–III  (bdkbZ–III)

7. What do you mean by Inflation ? Explain demand

Pull and Cost push inflation. 16

eqnzk LiQhfr ls vki D;k le>rs gSa\ ekax izsfjr ,oa ykxr
o`f¼ eqnzk LiQhfr dk O;k[;k dhft,A

8. Define the Inflation. Critically examine the effects

of Inflation. 16

eqnzk LiQhfr dh ifjHkk"kk nhft,A eqnzk LiQhfr ds izHkkoksa dk
vkykspukRed o.kZu dhft,A
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UNIT–IV  (bdkbZ–IV)

9. What is Interest ? Explain the classical theory of

Interest. 16

C;kt D;k gS\ C;kt ds ijEijoknh fl¼kUr dk o.kZu dhft,A

10. What is meant by Trade Cycle ? Critically explain

the Samuelson’s theory of Trade Cycle. 16

O;kikj pØ dk D;k vFkZ gS\ O;kikj pØ ds lSE;qylu ds
fl¼kUr dk vkykspukRed o.kZu dhft,A
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